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ORDEREZ, [ ]JOHOLFIZOWTET,

@ x+2y=5 [x]

x=5-2y

@ 3x+y=9 [v]

y=9-3x

ORDEREZ, [ ]JOHOLFIZOWTET,

@ 2x-4y=6 [x]

2x=6+4y
x=3+2y

@ 6x=9-3y [y]

Jy=9-6x
y=3-2x
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@ z-y=7 [x]
x=7+y

@ sx+y=3 [y]

y=3-5x

® 5x-y=10 [x]

® 2z+3y=7 [y]

@ 5x-10y=15 [x]

S5x=15+10y
x=3+2y

@ 6x=8+2y [y

—2y=8-6x
y=—4+3x

® 4x-5y=3 [x]

® x+3y=5 [y]

5c=10+y y=7-2x
B 10+y _2 Y Y= 7-2x
r=—7% (x= +5) 3
@ V=abc [a] (=2nr [7]

abc=V 2nr =14
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© S=Lan m ® m=4t (g
2S=ah 2m=a+b
ah =28 a+b=2m
h:% a=2m-b

4x=3+5y Jy=5-x
3+5y _b5-—x
r=—7—" y="9"
@ S=ab [a] S=nar’h [h]
ab=S wr*h =S
a—i h= S
) " nrh
X+y+z
@ v==1sn [ ®m=""5" [
3V=Sh 3m=x+y+z
Sh=3V x+y+z=3m
h:3—SV x=3m-y-z
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